11/8

i

55/8

DWG #: 128P10
DRAWN:BCM 7/16/2010
SHEET #1

File: 0000832.idw

77/8

| 2

3/8 — 158 —r———————— 4 38—
T $ /_Align w. Edge of Jamb (By Others)
I S ! 3/4
l g k

o s — — H—+
T -

—
! N | -
i _ = =
= 34— T o
" !_\

Available Finishes:

\

0128.00010: Powder Coat Pebble Tan

0128.00010SC: Powder Coat Black
0128.00012: Clear Zinc Plated

ALL DIMENSIONS IN INCHES

6X 9/32" Square Holes
For 1/4" Machine Screws
or #12 Wood Screws

NON TEMPLATE DRAWING,
USE FOR REFERENCE ONLY

THE INFORMATION CONTAINED IN THIS
DRAWING IS THE SOLE PROPERTY OF
CROWN INDUSTRIAL. ANY REPRODUCTION
IN PART OR AS A WHOLE WITHOUT THE
WRITTEN PERMISSION OF CROWN
INDUSTRIAL IS PROHIBITED.

ID#

0000832

STOCK PART #:

0128.00010 /

MATERIAL:

400 4
UTZ0.UUUTZ

DESCRIPTION:

Medium Latch Horse Fooler Assy

FINISH:

#PCS.| REV:

CROWN
INDUSTRIAL

So. San Francisco, Ca
(650) 952-5150
www.crown-industrial.com

1




778

11/8 | 2
3/8 — 1 5/ — > l———— 4 3/ ————— >
6X 9/32" Square Holes
Al Ed f Jamb For 1/4" Machine Screws
) -+ /_ Ign w. Edge or Jam or #12 Wood Screws
‘ |_|_| (By Others)
17/8 3/4 T‘EH'? E 3/4
e y 5-+
| -
1 "
55/8 — —
| - = =
T 314 ——— | 21/8 ~— 3/4
N _L
@ 3— 12
i 1/2
(v : @ oty
X \_/ 4X Countersunk Holes [
For #8 Flat Head Fasteners | #128P14
(By Others) 3/4 | 3/4 Pad Lock Staple
~N
NON TEMPLATE DRAWING,
USE FOR REFERENCE ONLY
la———Padlock (By Others)
ALL DIMENSIONS IN INCHES
THE INFORMATION CONTAINED IN THIS ID #: STOCK PART #:
Available Finishes: DRAWING IS THE SOLE PROPERTY OF 0000832 0128.00010 /
0128.00010: Powder Coat Pebble Tan IN PART OR A8 A WHOLE WITHOUT THE  [WATERTAT 012800012
0128.00010SC: Powder Coat Black WRITTEN PERMISSION OF CROWN
0128.00012: Clear Zinc Plated ID“éZgiITPRTIQJLJS PROHIBITED. CROWN
DWG #: 128P10 Medium Latch Horse Fooler Assy INDUSTRIAL
DRAWN:BCM 7/16/2010 NS TS TREV: So. San Francisco, Ca
SHEET #2 (650) 952-5150
File: 0000832.idw www.crown-industrial.com

“ 3 & : 1




7718

9/16
{ l—1/4

_

4X Countersunk Holes

For #10 Flat Head Fasteners (By Others)
t—— 2 3/16 43/8
f— 1 1/2 —8=
6X 9/32" Square Holes
For 1/4" Machine Screws
-— 1 -— 1/4 Mortise into Face of Door Jamb or #12 Wood Screws
/ (By Others)
O d)_ |
] 1 34 T — 3/4
15/16 ‘E} ‘E
2 212 %

— |
N r\ | —
]

! 0] O T =

g 1116 44 L

fis

3/4

X\ 0128.00017 v NON TEMPLATE DRAWING,

Horse Fooler Strike Plate for 128P10/128P12 Latch USE FOR REFERENCE ONLY

ALL DIMENSIONS IN INCHES

THE INFORMATION CONTAINED IN THIS ID #: STOCK PART #:
DRAWING IS THE SOLE PROPERTY OF
CROWN INDUSTRIAL. Any Repropuction | 0000832 0] 2§'000]O /
IN PART OR AS A WHOLE WITHOUT THE  [MATERIAL: 612800012
Available Finishes: WRITTEN PERMISSION OF CROWN
0128.00010: Powder Coat Pebble Tan INDUSTRIAL IS PROMIBITED. CROWN
DWG #: 128P10 81%2.8881gsglézs\lzv%irlgggtdmack Medium Latch Horse Fooler Assy INDUSTRIAL
DRAWN:BCM 7/16/2010 ’ ’ NS TS TREV: So. San Francisco, Ca
SHEET #3 (650) 952-5150
File: 0000832.idw www.crown-industrial.com

4 I 3 4& 2 1




77/8

T

0128.00017 { ( ) _/

Horse Fooler Strike Plate for 128P10/128P12 Latch

4X Countersunk Holes
For #10 Flat Head Fasteners

(By Others)
a— 1 1/2 —= -
23/16 43/8 6X 9/32" Square Holes
For 1/4" Machine Screws
— 1 — 1/4 Mortise Into Face of Door or Jamb or #12 Wood Screws
/ (By Others)
O d)_ g
] 34 T — 3/4
15/16 HH- +
2 21/2
> 0-}
| L
B N
o —
! Q H < = —
= 116 5 218 3/4
SR |
g D)
~ : 1/2
i ) d L b
- ﬂ ’
A | \N_/ 4X Countersunk Holes [
For #8 Flat Head Fasteners | #128P14
(By Others) 3/4 i 3/4 Pad Lock Staple
<
NON TEMPLATE DRAWING,
USE FOR REFERENCE ONLY
lee———Padlock (By Others)
ALL DIMENSIONS IN INCHES
THE INFORMATION CONTAINED IN THIS ID #: STOCK PART #:
; . . DRAWING IS THE SOLE PROPERTY OF
Available Finishes: CROWN INDUSTRIAL. Any Repropuction | 0000832 0128.00010/
0128.00010: Powder Coat Pebble Tan IN PART OR AS A WHOLE WITHOUT THE  [MATERIAL: 0128700012
0128.00010SC: Powder Coat Black WRITTEN PERMISSION OF CROWN
0128.00012: Clear Zinc Plated TDUSTRIAL IS PROHIBITED. CROWN
DWG #: 128P10 Medium Latch Horse Fooler Assy INDUSTRIAL
DRAWN:BCM 7/16/2010 NS TS TREV: So. San Francisco, Ca
SHEET #4 (650) 952-5150
File: 0000832.idw www.crown-industrial.com

“ 3 & : 1




